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AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
101 | RERT=\ 186 131 55 Kg | 3,024 734 | f )i 6,480 540
102 |[ZHEIZW 1,283 1,283 Kg g 1,512 324
111 [FiiEED 118 118 Kg = Koy 1,890 381
114 |FFH-H 102 102 Kg HEE[E] 2,484 1,620
117 [13n 93 93 Kg frJE 3,622 1,620
134 |[7=Z 78 50 28 Kg [E=k 3,600 1,800 X% 2,376 2,160
140 |DIT 10 10 Kg Aty 43,200 23,220
147 |EHZ O 26 26 Kg e 15,120 12,960
158 [N AED 245 245 Kg EJNN] 1,998 1,782
206 |1 290 290 Kg KRy 907 605
207 [SAE 414 414 Kg JbvEE 3,856 689
208 [7oB 3 3 Kg =R 1,404
AVIRES BN 108 108 Kg EJNN] 2,938 1,404
251 [KAFESA 80 80 Kg g 7,344 3,563
252 |WAEESA 75 75 Kg |mi57 4,644
254 |[&bIEECAH 248 248 Kg 7 2,106 1,026
303 [nAZ7Ewn 38 38 Kg gy 1,142 196
332 | EA e 105 105 Kg E|RES 2,052 1,620
351 |AH 20 20 Kg HEE[E] 5,886 4,320
355 [HV 65 65 Kg HHEE - 5 A 1,512 540
356 [LUA 10 10 Kg = 864
357 [JRE 22 22 Kg HEE[E] 1,728 810
358 [KxH 10 10 Kg A 1,296
362 [ 16 16] Kg HIR 864
401 | 32 32 Kg B 2,052 1,296
402 [H7pE 15 15 Kg S 5,400 4,860
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507 |2—/L s 20 20 Kg i 702
512 | M 150 150  Kg E[RES 1,400 690
523 | BT 2O 117 117 Kg FE T 4,050 1,350
524 [WETeEZ O 25 25 Kg FE T 1,620 1,150
554 |xiX #@mA AR 70 70l Kg E[RES 750 450
558 |FRfa 10 10 Kg B|&ES 918
560 |WmE7-Z 311 311 Kg EEDA 3,200 650
576 [ EF 300 300 Kg B[Sz 1,150
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01 [E0Hh 610 189 i Ke [ 3,265 1134 ii% 705 605
710 [52DIT 60 60 Eg TGE 1,215 1,034
751 |BISAE 97 1l Ke A 510 576
755 [HHT 66 06] Ke 5 1,736
61_[BUDAEE 6 S 3 1,188

(T RN 6 g T TE 1,728 1,200
801 |TRALE1) 76 0l Re jﬁthﬁ 386 324
805 [H=i3 302 ng Eg T 3,780 1,566
810 [JIKT 22 £ R 1,206 864
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